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WIEC INTERMEDIATE TIER PERCENTAGES NUMERACY WORKSHEET

(a) Students are {aking tests in English and Weish.
The English test is marked out of 80.
The Weish test is marked oui of 70.

(i) Dyfed scores 35 in his English test.
Estimate Dyfed's score as a percentage.
Circle your answer.

4% 20% 23%

(i) Liam scores 22 in his Welsh test.
Estimate Liam’s score as a percentage.
Circle your answer.

TN
0-3% 3% 22% @
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51%

]
40%
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Lotty and Rafael decide fo enter a prize draw.
They agree to share any money they win in the ratio 2 : 3 respectively.

After winning a total of £2000, they think again and decide that Lotty’s share should be
increased by 30%.

{iy Rafael thinks that his share will be reduced by 30%.
Without any calculation, explain why Rafael's thinking is incorrect. [
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iy Calculate the amount of meney Lotty wins after the decision is made fo increase
her share. {4
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(i} Find the ratio that is now used fo share the monay between Lotty and Rafael.
Express your answer in its simplest form.

A = O = Ao e

Meke, om0t @O
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A N T

Lotty's winnings - Rafael's winnings = ... T L2,

(b}  Inanother prize draw, it was planned to give £5000 as the first prize.
To make it more papular, the organisers decide to increase this first prize by 26%.

The most efficient method of calculating the amount of the increased first prize is
1-26 » 5000

The second prize was planned to be £3000, but it is now decided to decrease this prize

by 6%.

Write down the most efficient method of caleulating the amount of the decreased second

prize.
You are not expected to work out the answer.
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Lazar wanls to send a package o Germany. .
He looks at pricing charts for three different companies, ParcelMax, DirectGo and PackZsave.

ParceiMax

Totat cost =
Sem of the 3 dimensions in cm = £6.60

Directzo
Jotal cost =
Volume measured in cm® x £0.01

Pack?save
Totat cost = _
Total area of 2il 6 faves measured in cm? x £0.02

Lazar's parcel is a cuboid measuring 10em by 20cm by 30cm.

20omy

) SOV

ra L AL om
30 cm

Diagram not drawn fo scale

{a) Find the cost of sending the parcel for each of the three different companies.
Give each of your answers in pounds (£).

i} ParcelMax 2
0 A0 A0 % O

e 2 R

i} DirectGo 31
AL X B0 KON X OO

= G000 x0-01




(i) PackZsave 141
L L2020x230) 2020 x\0) £ 2 3O 0 )y 0.072
1200 £ 400 + GOOY x0.02
N NG R O P & N

N
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b} What is the percentage saving that Lazar will make by choosing the cheapest option
rather than the most expensive opfion? ¥
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a) Jasmine entered herself, Sophie and Bryn as a group in a talent contest.
Bryn only had a minor part

Bryn, Sophie and Jastine won the contest.

They shared the gﬂz;e money in the rafio 2 : 6 1 7, with Bryn getting the smallest share.

Jasmine won the largest share.

{ii How much money did Bryn and Sophie each win?

&

bryn- BOxkz €160
%og\\ief&‘)x@»:@-"‘rg@

Bryn receives £ m\g’;@“
Sophie receives £ ,ML\'%QMN

(il Jasmine gave 15% of her winnings fo charify.
How much did Jasmine have left?

(2]

107, of 580 - 560 - e5G

Lo

2 =

2

\5‘/( @‘F 90 - 56 118 = £84k

Jasming  han W 560 % = outlG




(b} The talent contest is held once a year.
Every year, the cost of putling on the talent contest increases by 10% of the previous
yeu's cost.
tn summer 2014 the cost was E66080.

Calculate the cost of putiing on the summer 2617 talent contest
You must show all your working. 3]

T S LN e S

N

3
GLOO % .} - £¥81834%. Lo




10. Cambria Aiines has planes that can camry up lo 7 passengers.
For safety, the crew practise the emergency exit procedures with a group of 70 passengers.
Evary 10 seconds the safety officer records the jotal number of passengers who have left the
plane.
He has displayed the resulls in the cumulative frequency diagram shown below.

Curmulative frequency
f |

70

40

10 2

"o 10 20 30 40 50 60 70 Time
{(seconds)

{al Esfimate the median time taken by the passengers o leave the plane. [1]
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T0-«0 = 30
{5} How many passengers fook more than 50 seconds to leave the plane?

Circle your answer. ‘ £
T 20 40 50

{c} Cambria Airfines has a policy thal states the following.

‘Tn the event of an emergency exit ?mce:dum at least 90% of the
70 passengers must have left the plane within 1 minute,

Did the practice emergency exit procedure meet the requirements of the airline’s pelicy?
You miust show all your working. 4]
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Loretta is paid in euros.
She is checking her tax bill for last year.

The tax rates last year were as follows:
*  No tax on the first €3500 of eamings
+ Earmnings in excess of €3500 and up fo €10 500: taxed at a rate of 25%
* Eamings above €10 500 taxed at a rate of 35%

Last year, Lorettas total eamings before tax were €34 500.

How rueh tax did Loretta pay in total?
You must show all your working. ]

Tax@?)“é/

‘bbc%C)Q 056 - €2J%IOOC>

lO%GO ’6‘500 .._~.._%7 00@ e
457 of o0 = 025 x 1000 = ey180
T ek

HuOD 4 (150 - €0AS0

Tax paid =€ LG[\‘:)C)




{a} The total area of all the woodlands in Wales is 303 000 hectares.

Individual woodlands that have an area of 2000 hectares or more make up 76% of the
total area of all the woodlands in Wales.

Completa the foliowing statement.

“Woodlands with areas of less than 2000 hectares in Wales cover o total area of

b e B3l

R v
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Gwenda enjoys road nnbning.
{a} She keeps a record of her run each day this week.

Day Sun Mon Tues Wed Thurs

Fri

Sat

Digtance | 46km 54km 22k | 62km FZkm

2-2km

J4km

Time Hming | 3tming | P2mins | 35mins

40 mins

14 mins

22 mins

Last wesk, har average speed for the week was 36 kilometres per hour.
Calraulate Gwenda's percentage improvement in her average speed from last week fo this week.

You must show all your working. 6

B

(A6 168 w212 a6l w12 xLl T
(6eE) (aea) (ed)  (35560)  (ee) (aseo) (12-60)

BTN Ny LS —

4k 00T 832/ 100 7, 293,27 = 6.9

Percentage improvement is ,.MCO'%’W %
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Luigi lives in south Wales.
Rosina lives in west Wales.
Fer each of the first 65 days of 2017, they recorded whether or not it rained.

Luigi recorded that it rained on 28 of these days.
Rasina recorded that it rained on 40% of these 65 days.

Luigi says,

‘For the first 65 days of 2017, there were more days with rain where I live than
where Rosina lives!

Is Luigi correct?
You must show all your working. [3]

LAB o5 65 dansralne®
o ROBUORN
LU0/ 0k 602 62 x X0 e dave  of ekt
o
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Mali's scooter depreciated (decreased) in value by 24% in the first year.

In all further years, her scooter depreciated by 13% of its previous year's value.
She originally paid £850 for her scooter.

Calculate the value of Mali's scooter after 7 years.

B3

O

S S T N T - e s
GGG X BB S 280

After 7 years, the value of Mali's scooter was £ 2—(‘5

{h)  The television was reduced in the sale by 26% of its original price.
it cost Marta £710.4G in the sale.
What was the original price of the television?

.\ ..

{21

Y A 1 S L A N T .

.t

il B0 o EAOO

Original price £ 260
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A new report claimed the follon

’ % of the world population is feftt anded

+  Twice as many men a3 women are left-handed.

s 30% of the world population is mixed-handed.
ﬁtv;.li]xed—handed people prefer to use the left hand for some tasks and the rght hand for

k]

+  ltis very rare to be ambidextrous, that is being able to do all tasks equally well with either

hand.

In 2011, Wales had a population of 3063000,
In 2014, Wales had a population of 3092000,

fa} Calculate the number of left-handed people living in Wales in 2011
State what assumplion you have made. 3

2063, 000 x Bk = 361,060 crseeriine

Assumption:
o waden  ben. ke same.. (Jercecﬁl

bk hended pecpte B e
de wcr(d

{b} In 2011, Wales had a population of 3063000,
1 555000 of these people were women.

in 2011, what percentage of the population of Wales were men?
Give your answer correct fo 1 decimal place. 31

Men 53,063,000 -\ 89V 00D .

JoMen 1,504,000 x \OO = 44/,

17




{c} How many mixed-handed pecple do you think were living in Wales in 20147
You must show your working.
Give your answer to the nearest 1000 people. |

B R

{dl A country of 6 million people meets all the claims given in the newspaper report.
% of the women: in this couniry are left-handed.

There are 3 million men living in this country.
How many left-handed men would you expect there fo be in this country? {4}

women t, 6,000,000 ~ 3,000,000 = 000,000

Lol heded” 5,008,000 x 0.08 = 240,000

) 260000 x % = 450,000

i8




WIEC INTERMEDIATE TIER MONEY NUMERACY WORKSHEET

Small bottle Medium bottle Large bottle
300 mi for 66p 400 wi for 92p 500 mi for £1.20

{a} In this part of the question, you will be assessed on the qualily of your organisation,
commurication and accuracy in wiifing.

Roland is going to buy seme orange juice for a party.

Which size hettle of o juice offers the best value for money?
You must show your workig. (342 O0W]

3 s Nedion boe

200wl - £0.66  4oOmL- £0.8L
- T - L . "2t S
AOOmL - £0.22. 10O mv - 4£0.25

Y5 T I O ——————
. B00my, - £4L23  Sweld  monwa W berr
R WO t= YR 1 (S-S < O 1~ <\ N

¥

Galina neads to buy exactly 800 mi of orange juice.
® Which is fhe best g%tion f;f'y Galina? .
You must show your working and consider all options.
You must give a reason for your choics. 3

oSmalh b lesae o £0.66 + £1.25 2 £VAL .

Mzdwm&ml'\fmﬁb%*r&b%*&\%u

A seduiwn  bxler are b gblen.
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Marein has a market stall to sell his printed T-shirts.

it costs him

* £250 fo buy 100 plain T-shirts,

*  50p to print a design on each T-shirt.
Marcin sells his printed T-shirts for £4.00 each.

At the start of the week:
+ His bank accourt balance is £82.
= Marcin has 100 printed T-shirts ready fo sell.
» He has aleady paid for these printed T-shirts.

During the week:
*  Marcin sells his stock of 100 T-shirts.
» He pays all the money he takes from salling T-shirts into his bank account.
* He buys and prints another 400 T-shirts.
+  Marcin does aot sell any of these 400 T-shiris.

How much wilt Marein have in his bank account at the end of this week?
You muist show al your working.

LOpIN ba\ance B0
) U100 & ‘-k ém

_£12.00

M

(250w + (0.5 x %08)
o 3OO0 A BO0O e,
etk g0 + 400 - fuse.
T A N w1« N
T S
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fn this question, you will be assessed on the quality of your organisation, communication and
acouracy in writing.

Maes Alun Camping
Charges

Tents covering ground area:
*  less than or equal Yo 12m®  cost  £14 per night
+  greater than 12m® eost £16 per night
AND
Charge per person: £4 per night

Stay B nights ond get the next night completely free.
This means no charge for tents or people on every 6™ night.

Rhodri and Lars are planning a camping holiday, staying at Maes Alun Camping.

They are going b
» take only one tent between them,
»  {ake a tént covering a rectangular ground area, measuring 2-5 metres by 44 mefres,
»  both stay for a total of 12 nights.

Their holiday is just 8 weeks away.
They each plan to save £15 per week from now urdil their holiday in 8 weeks' time.

Wil the amount they save be enough o pay for their holiday? _
You must show all your working. [8 + 2 OCW]

Cook of fenk - 10y ik o gwWO

x\O L8O
Tok@d  gosk o \&Bb 40 - €220
Aok eeved L 2xBx\S - f240

Xt

Tee_amank  sewed D enoudh R e foido
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Lazar wants to send a package fo Ggrmar:g.
He looks at pricing charts for three different companies, ParceiMax, DireciGo and Pack2save.

ParcoiMax
Totat cost =
Sum of the 3 dimensions in cm = £0.60

DireciGo
Totat cost =
Yolume measured in em® » £0.01

Pack?save
Totad cost =
Total area of all 6 faces measured in cm? x £0.02

Lazar's parcel is a cuboid measuring 10 cm by 20cm by 30em.

20cmi
) SRR S—. —

[ 10 om

Diagram not drawr: lo scale

fa) Find the cost of sending the parcel for sach of the three different companies.
Give each of your answers in pounds {£).

{i} ParcelMax 2]
o+ 23040 x 0.6 - GO xG.6
D

o

3

i} DirectGo 3




{iy Pack2save &

2 (1200 4 OO0 & 00 X O Q%

AROOA0.0T

AN

O

{5} What is the percentage saving that Lazar will make by choosing the cheapest option
rather than the most expensive option’? [21

BB X A T B e

B

LLAD0Y, - @G/ = BOL  saity
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{a} Jasmine snterad herself, Sophie and Bryn as a group in a talent contest.
Bryn only had a minor parl.

Bryn, Sophie and Jasmine won the contest
They shared the &nzae money in the ratio 2 : 6 ; 7, with Bryn getting the smalflest share.
Jasmme wuor: £560, the lorgest share.

{) How much money did Bryn ard Sophie each win? 4

IV XTI <51

R
G B0 T BUB

Sophie receives £ e > 1S T
{#  Jasmine gave 15% of her winnings fo chanfy.

How much did Jasmine have left? 2}

0.%5 x 560 = £WlE

25




{5} The talent contest is held once a year.
Every year, the cost of pulting on the talent contest increases by 10% of the previous

5 oost.
In summer 2014 the cost was £6600

Calcuigte the cost of putfing on the summer 2017 talent contest.
You must show all your working. i3

B

LD

L GE00 x\. =z TR0

LS\,

T80 a Nz ETASe

S H S

8% x M\ s gBISed
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‘Bethan builds a rectangular sheep pen.

(a} The penmierfe:mafﬁ;e sheep iong
It costs her £1.10 for every 05 m bfiencmgasedﬁ:;maiﬁaﬁwsheepm

{iy Calculate the costof t?‘rafem:m used o make this shéep pen.

Vi

; !:°‘°

110 - 238,60 o

Costis€ . D@0 .

Pant y Drraig (Dragon’s Bridge) opened in Rhyl harbour in autumn 2013.

‘Thee harbour development cost £98 mﬁm ‘
£4-3 million of this money was spent on Pont -y Ddraig.

(5] How muchivas spent on the rest of the harbour development in Rhyl?
Circle your answer. '

8,800,000

Aa‘oo';i w E..u‘m.u. DY KRS AR TGP D 32 S A 554 €00 € 0¥ K€ SIS IS0 DA DD IR DY P RIT O S 2 03 4 SR 0

|

£55000 £550000 £5500000 ) EB5000000 E5R50000000

- % 300,000
5 500,000
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Four different supermarkets have special offers on the price of lemons.

Supermarket

Bpecial offer

Lemons: usuaily 40p each
Now on offert
Buy 3 for the price of 2

Edges Mart

A net of 4 lemons for 75p

Food Uno

A bag of 5 lemons for T6p

Greemmvay

Eemonrs only 26p each

Aled needs 6 lemons {0 make lemon cakes for a birthday party.

{a} In this part of the question, you will be assessed on the quality of your organisation,
commenicafion and accuracy in writing.

Aled only has time 1o go to one supermarket.

Calculate how much Aled would pay in each of the supermarkets.
In which supermarket will he be able to get the lemons he need& for the least amount of

money?
You must show all your working.

Edqe}) N&r‘h

052 - £1,80

[5 +2 OCW]
Food uUno t
0.6 x L - £, 52

G eﬁf\u@& L
026 G - .E\ 5@,

Eduen Werk ol conk e lest,
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{b}

Aled can use any left over lemons to make muffins.

Which supermarket gives the best valus for money?

Give a reason for your answer.

29




3. Mehmet neads a new fence for one end of his garden.
Fences are constructed using panels and posts.

{a} Posts are needed between each fence panel and at both ends.
How many posts are needed for a fence made with 34 panels?
Circle your answer. |

33 @ 3 34 36

(b} Wehmet wants a new 1-5 m high fence for his garden.
The fence panels come in different lengths.
The posts Mehmet wants to use are all the same size.
Mehmet has the following information.

1-5m 1-5m

106m —== 25m ' Zm
Posts cost £14 each Large £40 each Medium £30 each

1-Bm 1-8m

15m
Small £26 each Extra small £18 each

30




The fence Mehmet wants to make is 8-5m long, including the posts.
He has started to sketch a plan, as shown below.

B:-5m

]

Post Pamel Post

Diagram not drawn o scale

Mehmet needs to use & posts.

Work out one possible choice of panels that Mehmet could use.

You may use t?;?aflan to help you.

Calculate the total cost of the posts and panels for this choice of fence.

Post

Space.  geded Ao Q0TS
0 xH - 50em = S0 200

R ’(t’.\mnﬂ
B.5.20:9 295m.

iR e l L'E:'
Jvm .. \el

u@mm _oanely. _' mcm\ .

:L.

....L“c:a ;t d’ (LM&US U;’ﬁ . d f.\)t"‘-»
A0 x Y = tl% e xS = BN

Total cost of making the 8:5m fence is £ 445, 1. 10 ZEV 9O

fc) It costs 2p to pairt sach 100 cm? of a fence post.
How much will it cost to paint the 4 vertical sides of 1 fence post?

Acca o be uutﬁﬁd

(01802 4x \500 = @0CCCME
Afmwo‘r a@ palnd f\&ddﬂ“

\00

Cost of  paint:

Go 0.0z = £1L,20
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Truetool is a tool hire company.

Hire charges

The cost of hiring a cement mixer in £
13 = number of days + 26

The cost of hiring a jet washer in £
9 » number of days + 38

{a) Sara hires a cement mixer for 5 days and a jet washer for 7 days from Truetool.
How much change would she get from £2007

CL)’&L{LHVW‘»LIY\M&

3]

AEx S ¥l = BRI+ 26 = £9N
R < S . U <o) =
aox 7. 1 ?w :u>«~5“3f..—.\c\

-

,...._.‘““ i—l(} L {., \‘l?_
Muw\g

(b} Geraini hlred a cament mixer for a number of days.
Lois hired a jet washer for the same number of days.
They each paid the same amount of money.
For how many days did they each hire these fools from: Truetool?
You must show all your working.

B

AR 4 LL : s 32 VK i X

l—u rZ_L AS

;%et Lhmwmmmmmwmmwmmmmwm

Numberofdays .o
hx < |Z
L e
x=3
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Ne. of  oadks of © \aw00 - 13300 = 500

) ._...5.( f\C_\‘ &L\&.&ﬁﬁ '?3 x 1.%50 =£23.%0
..‘Tdal d\e.uﬁ tG") LA 1»"5 “«0 -c;wsuxo
..WrT @ e 005 % 12540 2 £6.4L

4 M..::'g' e 10 G034 52 o £335AP
Magens  accounk

Megen _con atfad o £330 vahing...
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1. Megan Pugh's electricity bill is shown below.
It covers the period May, June and July 2017.

Megan Pugh
203 Stryd Bryntor
Maesgwyn
Pasiod Previous rmieter Present meter Number of unils of
reading reading electricity used
May, June and ;
July 2017 13450 13900 450
Charge for electricity:
450 units at 20p per unit 2nh
Standing charge: —
3 months at EQEﬂ per month L2280
Total charges: £112.80
VAT at 5%:
5% of £112.80 e
Amount fo pay: £112.80 + £5.64 = £118.44

{a} On 1 August 2017, the charge per unit for electricity was increased by 5%.
What is the increased cost per unit of electricity?

Circle your answer. (1
205p 21 p\i_ 21.5p 22p 225p
v ?%Q . ..FI'.‘.‘:. s ‘ AR

{6} Megan wants to calculate her next 3-monthly eleciricity bill.
She knows the following:
«  Her meter reading on 31 October 2017 was 14400
The charge per unit for electricity has increased by 5% since her last bill.
The standing charge has increased by 20p per month since her last bill.
VAT remaing at b%.

On 31 October 2017, Megan had £470 in her bank account.

After paying her next 3-monthly electricity bill, will Megan be able to buy a new washing
miachine costing £3307
You must show all your working. &

- & @&



Loretia is paid in euros.
She is checking her tax kill for last year

The tax rafes last year were as follows:
+ Mo tax on the first E3500 of earnings
« Eamings in excess of £3500 and up to €10 500: taxed at a rate of 25%
+ Earnings above €10 500: taxed at a rate of 35%

Last year, Loretia’s total earnings before tax were €34 500.

How much tax did Loretta pay in iotal?
You muast show ali ypour working.

/{3’& @ “Z‘“(B / o

L]

A (V1S S i1 1o G I (61

1000 x0:23 2 €MNTRO e

B A S SR A1s ¢ SR e

AUO0O x B39 L EESEOO i

A0 & U0 = NG A e

& n &
Tax paid=€ . \L\,\ 20 ;
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Ewan is going on holiday o India.
He has saved £450 o exchange for Indian rupees.

{a) The exchange rate on the internet last week was £1 = 99.40 rupees.
Had Ewan been going on holiday last week, how many rupees could he have bought?

2]
vas(‘\,\c‘q«-ko:q%’(?;(d%k@)

(b} Ewan exchanges his money on arrival in India.
The exchange rate is now £1 = 99.72 rupees.

The exchange bureau only has 500 rupee notes.
Ewan wants to buy as many rupees as possible with his £450 savings.

How much of his £450 will Ewan spend buying rupees?

Give your answer correct fo the nearest penny.
You must show all your working. 4]

JBS0 x QAT Ay, BT VRSER e

Laneoly o gek B, D00 ougess

D B0 3 AT = LOME, A
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(a)

In this part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in wriing.

Railcard for 16 to 25 year olds
£30 for a year
Get % off all your rail travel

Merys and Eleri are sisters.
Nerys is 22 years old and Eleri is 27 years old.

The two sisters live in Holyhead.
Their aunt lives in Milford Haven.
They travel by train to visit their aunt 3 times a year.

Nerys buys a 16-25 Railcard to use for these journeys.

They buy single rail tickets for each journey.

The cost of a single rail ticket from Holyhead to Milford Haven is £84.50.
The journey home from Milford Haven also costs £84.50 per ticket.

In & year, how much less does Nerys pay than Eleri for the journeys to Milford Haven and
back?
You must show all your working. [5+2 OCW]

B T - e
e yeuanens  cent 2 ek 5900 - £93071..
Prise.of o aflerz. 2 .66.9071 2 80 1x 2 2f
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fb) Cristiano is 22 years old.
He sometimes travels from Rhyl to Llandudno Junction by train.
The cost of a single rail ticket from Rhyl to Liandudno Junction is £7.80.

Nerys advises Cristiano to buy a Railcard.
Cristiano says,

It is not worth paying £30 for the Raileard.

22
e " it : o ‘ o e

How many fimes in a year would Crisfiano have to travel to make it worthwhile for him to
buy a Railcard? 3

Losang &

Pace of By abtar 2 of 150 -1.50:2— €5.20

gk BB

-

L VAU
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{8} The price of softwood changes each year.
The price has increased by 6% per annum for each of the last 5 years.
Before this, the price had decreased by 2% per annum.
Seven years ago the price of softwood was £34 per m3.

Calculate the cumrent price of softwoed. I3

B x 0.8 4 1,067 2 A4 T0 pec.n.

Current price of softwood is £ ‘*;?210 pear m?
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(b} In this part of the question, you will be assessed on the qualily of your organisation,
communication and accuracy in writing.

Organics4l has. 16 vehicles on the road every working day.
The company has 6 vans and 10 trucks.

Ffion has the following information for each type of vehicle.

Average distance {ravelled | Average distance travelled

Typa of vehicle er litre per
we (krﬁ per lifre) thm pﬁﬂaﬁ

Van B 266

Truck 55 704

The fuel used by all of the 16 vehicles costs £1.10 per lifra.
Use this information to calculate the total fuel bill for 1 working day.
You must show all your working. B+ 2 00W]

N B
No. of  Weer wed o 156 = 3L Whven

B
ol o Rk & Gx LAOXAL T £20.20

N, ob ey waed o A0k = 128 Wtren

5:5
 Cokof Rl fr 10k A0 AT 2 £IHOB
O A

R BN
I Lo 1 X O Y L TN S 2 Oy AP X &
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Mali's scooter depreciated (decreased) in value by 24% in the first year.

I all further years, her scooler depreciated by 13% of its previous year's value.

She originally paid £850 for her scooter

Calculate the valus of Mali's scooter after 7 years. 3

%50 016 - fo4b
QUL A 0,81 s BIRO N

After 7 years, the vatue of Mali's scaoter was £ .2 90 : .
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b} The television was reduced in the sale by 26% of its oniginal price.
it cost Marta £710.40 in the sale.
What was the original price of the felevision? 2]

Original price£__300

fc}  Atelevision uses 1 unit of electricity every 10 hours.
A unit of electricity costs 9.8p.

(i) Calculate the cost of having a television turned on for 24 hours.
Girele your answer. |

£23.52 £235 40.83p 245p

{il  On average, Marta watches 4 howrs of television each day.
On average, how much a week does it cost her to watch television?
Cirele your answer. {fl

2i44p EXT44 £39.20 3932p 10.78p
O
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The diagrany below shows where Levi wants to attach a string of lights to his house.

Strng of lights: -
\.‘_*_\&

Lewi wants to attach a single sfring of lights from B {o A and then from Ato C.
The diagram below shows the measurements Levi has taken.

A

2Bm , 26m
Diagram nof drawr fo seale

He spends £410 at the elecirical store buying a siring of lights. _
After putfing up the lights, Levi finds he has b metres of the slring of lights left over at one end.

How much did the electrical store charge Levi, per metre, for the string of lights? [6]

O = A RS B 2 LS
o HMxeosSL = 2.8
260552 & een®h
B S 220 SO

o L

oLl

length  of  shriag eeded: Llalz 6.2m
W‘(\%@\ of 28l oy ‘cha‘f\fc Cog.th o W

Coot of 5'\11‘(\/3 ps mekre Uio - £1%5.9871
L6 2
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Raspberries cost £3.60 per kg

Pears cost £2.60 per kg

Rhys buys some raspberries and some pears.
Rhys weighs the fruit he buys.
The raspberries cost him £4.50.

fa) Calculate the mass of the raspberries Rhys buys. [2%

O 3 T P > 1 S
e e

(b} In this part of the question, you will be assessed on the quality of your orgafiisation,
commmunication and accuracy in wrifing.

He finds that the mass of the pears is three times the mass of the raspberries.
How much change does Rhys get from £20 when buying the raspberries and pears?
You must show all your working. 4 +2 GCW}

Mass ok prews 1 \Sxd 2 BASkey
Cok ok pearst 37516~ €375
 Cogh 6? faf»pbemeh...;..w £%.90

L5 49, '\6 E\‘-* 2.‘5

0 -w15- £5159
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{c) The currency widely used in Patagonia is the Argentine pesa.

Alvaro sells alpaca fleeces from Patagonia.

His fleeces are priced in Argentine pesos.

Tom lives i Wales and buys fleeces from Alvaro.
Tom pays for the fleeces in pounds.

Tom's purchases are shown in the table below.

Number of Price per fleace, Exchange rate
flseces in Argentine
bought pESDS

January 2015 | 80 18.20 £1 = 1547 Argenting pesaos

March 2016 20 22.30 £1 = 15.21 Argentine pesos

April 20117 100 24.50 £1 = 14.93 Argentine pesos

For each of Tom's 3 purchases he paid correct to the nearest penny.

How much did Tom pay for these 200 fleecss, in pounds?
Give your answer correct to the nearest penny.
You must show all your working.

(4

C Covt R fleeces i e NS
S T R T N R B I L

LISELZRA S YL W i b o W

Cook of Bleecer

o Mer &

o X R A e S e,
B R TSI U L Y

Lok of Rleccenr wo pord VL
NS0 S A BN, O

Tekal S
Q4,29 + 19,32 + 16410 ~ £292.714
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Handmade socks, knifled using pure cashmere wool, are very
expensive {o buy.

Rowena buys cashmere wool in 20g balls.

Each ball of cashmere wooi costs her £1.42.

She pays her sister £8 to knit each pair of socks.

135¢g of cashmere woaol is used to knit each pair of socks.

Rowena sells 40 pairs of cashmere socks for £18.85 per pair.
What is her percentage profit?

Give your answer correct to 2 significant figures.

You must show all your warking.

71

A0 ) ABS T SO0 e

No.oob bath of weel wweded:

SO0 T AL o LD

A0 X LM~ AR A

CMNoney paid. Ao sieter T
B SR SO e /5L

A WO ¢ RA0 - IO K

sellina

B0 X NBAD 2 ETDB

Z o Pradit -
T18% - 1062, kG = £54-60
/, (J(‘GW( g

Sk.Gd % \00 + T1.%7.
0% .40
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Bethan has a plan of her rectangular fawn, which she has labelled ABGD.
Shie wants to cut out a triangular flowerbed from her [awn, labelled GHD.
Betharn decides that AG : GD should be 1 : 2 and that DH = HG.

She has made 2 skefch shown below.

A §-8 metres 8

[ 48 metros

?} .'L\‘W\ H C
Diagram not drawn fo scale

fa} Calculate the length of GH. ]
R e I 10 e St 1 S

f‘frbl:tl

I

LA =~ C
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(b} The flowerbed, GHD, is to have a flexible gﬁing siip placed arcund its perimeter
The edyging skip costs £3.50 per metie can only be bought in siips of complele
megtres.
+  How much will the edging strip cost Bethan?

«  What length of strip will be left over?
{(3ive your answer in centimetres. 4]

Y YL A e WO WO | W= Y o' WO
B O
VI R Tt 2 - N

Cost . HL

A0 cm leftover
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WIEC INTERMEDIATE TIER CONVERSION GRAPHS WORKSHEET

Marcus is a fzrmer:
He has his own conwersion graph to change bebween acres and square yards.

Sguare yerds
e

12400

7260

4840

2420

i 1 2
Complete each of the following statsments.

i) 3acresisequaite, AR . square yards.

P
Lk

]

e B T BBUO B0 FBIEN. o

TR C 2N S 612X O WY 1o SO —
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. Pelra is organising a prom for her year group.
 The rmumber of people stiending the prom is likely fo be belwesn :

'ﬁi& cost of holding the prom af Hole! Afonwen would be as follows.
Hire of the roary £500

Food: E15 per person

Welcome drink on arrivall £3 per person

Becoratipns: £2 per parson

{a} Diraw a graph to ilusirate the folal cost of holding the prom for befween 20 and 30 peaple.
tse the graph paper below. [

S SR S R
o AQ0 4 (LOx \‘Eﬂ 4 ('Lox‘s\ Mxm m _£500
Cost &y R0 N

A0 4 (R0 Mcﬂ +f66x”9 A Q%Oxz\ éﬂoc:ﬁ

aoe 4
8GO - <
N iy
¥
1000 Bra
+
§ lr .
50 -
0 § ‘ -
O 20 W 60 &0 \60
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(b} Peira decides to share sl the costs equally between the people attending.

v et £F be the prine paid per person.
+  Let N be the number of people attending the prom.

iride 3 formula for P i ferms of 8 |

P= 100 + 120

N %

fcf Hiring a larger room at Holfel Aforsven cosis £200.

The oosk per person for fopd, weicome drinks and decosafions remains the same.
23

if the total cost is £2240, how many people altend?

LENO = BO0 2 EROKD oo s somsesin s e
LONO T A0 = MR QOO s
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William owns and runs dog kennels.
His costs depend on the number of dogs in the kennels.
The running costs for one day are shown on the graph below.

Cost (£}

250

o]

200 4

1501 g

1o yan -

fa} Why does the graph not pass through {0, 0y?

80

60

Number
of dogs

4

I\ 2 T Y T : WO 13 s W < P
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{b) What is the increase in the daily running costs for each additional dog that is kept in the:
kennels? £21

50

@

(i

..d,s%s = £50

R L I = N

R I . S,

Freda afzo runs a dog kennels.

The cost of keaping 20 dogs in her kennels for one day is £130.

She knows that as the number of dogs increazes, the overall cost inereases at the
zame rate a8 In Willian's kennels.

Display thiz information on the graph paper cpposite. [21

Find the cost of keeping 30 dogs for one day in Freda's kennels. [t
g \10 .
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Alun has mads his own conversion graph to change knols fo milez per hour.

Mies per hour

!

15

- Jorsots
o8 100 200 na

fa) Use Murfs copversion graph to write 150 knots in miles per hour.

830 £ MO o TR S 00PN e

]
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b

Nikita thinks Alun's conversion graph may be inaccurate.

Hikita knows that 1000 knots is 1150.779 miles per hour, correct 1o 3 decimal places.

Convert 26 knote to miles per hour
« pzing Alun's conversion graph, and then
= waing Midia's values.

Caleutate The difference, in miles per hour, betwaen yolur answers.

Give your answer correct fo 2 decimal places.
{4}

You: st show a8l your working.

oeos | cowersin m"ggﬁgkx;mmmwmNWMWmmmmmwmmMmmmwmwmmm“
00 Ragks = WD 0N e e

“5{(5

20 webs s 13 meh

_NiRke's ooledoe:

R N e
N TN Aol e ST SR A YA 1Y o1 4 W

1000 eaeks = WSO engh

30 b 250 ..
'LD Vu\cks s ‘L% OEL mp\n
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WIEC INTERMEDIATE TiER LOCI CONSTRUCTIONS WORKSHEET
The scale disgram opposite shows an Eileddiod camiping field.

The camping field is 100 mietres long and 80 metres wide.

[ . P P e e e o 0 O 0, 0 S P o e A O Y 2

A river runs along the side AB. :
There is a hedge along AD. ;
There iz a fence along BC. i
D& iz an opening with access to the Eisteddiod camping field. i

........ - [R— o 5 et Bt 00 0

The scale used iz 1 om represents 10 metres.
& harbecue area is o be buill on the camping field.

The barbiecue area must be
+ pearer io the river than to the opening to the Eisteddfod camping held,
» pearer o the river than fo the hedge,
« more than 30 metres from the comer of the figld where the hedge meetls the river.

Draw suitable fines on the disgram and shade the region where the barbecue area could be
biesilt. 5]

youmm
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1 em represents 10 metres

Cpening o the Eigleddfod camping fisld
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Kar iz making a jigeaw puzzle.
She has designed the pattern on a piece of paper.
Kari plans to make each piece of the jigsaw a different colour.

Part of her plan iz shown below.

Red

Diggram not drawn o scale

Kari now sketches a diagram of the red piece of the jigzaw, which is shown below.
She shows some extended fines and indicates all the angles she needs o find.
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Find the 4 missing angles in the rad piece of the: jigsaw.
Draw the red piece of Karis jigsaw accurateky.
Ome side has been drawn for you.

a=oddn b= 108 o =A% 5 d=..0

Bpace for drawing fhe red piece of lgsaw:

=\ - 9l

o B e
e A -1 < S
i ——
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The diagram below shows a sheich of the existing gas pipes that run to and from Ty Gwyn.
H also shows 5 proposed 180m gas pipe which is to be Iaid to provide gas io Cae Kia.
The proposed pipe bisects the angle formed by the existing pipes at Ty Gwyn.

Complete the scale drawing below to show e proposed pipe.
= You musi use 3 pair of compasses o consiruct the angle Bisector.
~  Use 3 scale of Tom o represent 20 metres.

RN R Y G

~ T4 Gwyn
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fa

Oinganicsdi] i planning 1o have its headguarters in Wales.
The manager has instructed Flion to look for a site for the headquarters.

Haere are the instrucfions that Flion has been given by her manager.

'Find the point that is
«  8n equal distonce between Wrexhom ond Aberporth, and
= gh equal distance between Coernor-fon and Swansea
The new headguorters needs to be within 20 miles of this point”

On the map below, shade the region, in Wales, that Flion should identify for her
rREnEger 4]
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{B}  In i part of the question, you will be assessed oo the guality of your orgsnisalion,
cormumEiealion and socuracy it wriling.

Organicadl! has 18 vehicles on the road every working day.
The company has B vans and 10 trucks.

Fhion has the following information for each type of vehicle.

Average distance travelled | Average distance ravelled
Type of vehicle per e per gy
{ken per lifrej {km per day}

Van g 258

Truck 5B _ Th4

The fust used by all of the 15 vehicles costs E1.10 per lifre.
Usa this information o caloulate the total fuel b#l for 1 working day.
You must show 588 your working. 5+ 2 G0N0

""".—i"('igé;g:;:é:;::éi;:é;:;ﬁ:i::@f%%f%
Armam rammmmmmssimEaE deEaed arraa wemam R NAAAE AR TEERER % AP EARREE AR REa e ks dhRiE AR NS
Coot of  Baed - 1% xM\ - £2\\10

e Y s |
hikey wed - (“10%\“6 — 12810 = 1250 ke

Cot of Pugh - 1286l £\%OB.

okl fagl bl
LEV20 v (MOD T %\@J"‘“ AC’
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{fa} Bromwen and Alvaro decide fo keep some alpacas on their fanm 0 |
Patagonis.

Alvaro knows i s possible to keep between 4 and & sipscas on each acre of sultable
farmdand.

They have 13 hectares of farmizng that they want fo use o kesp the alpecas.

Broowen knows that 1 acre is 4046-88 m? and that 100000m° = 1 heclare.

LUze this information io advise
keep on their farmiand.

Biate amy assumpbion that you make.

Yiour Feust show all wour working. sl

L2 hedares = \3x 10000 = 100G M T
30000 ot 2 130000 o AL AL aceh
B = o L 1 Y1 =S
S Minivem  ne q& aleaw’\ _—

xS 10%.98 T V1% aleiah

Bromeen and Abaans o the number of alpacas they coald

Mevion 00 of alpavcar
lxe : WL IR A% alpacer

Assumpicn:
Joch | elpaca | vequien e same

it Bromwen decides o place 3 oviindrics! waler contabner in the small paddock on the farm.

The water conisiner has a diameter of -4 medres.

{it¥ The scale diagram opposie shows the small paddock on the farm.
The small paddock is rectangular, measuting 7 metres by 5 metres,
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Scale Zcm represents 4m

West fonoe

R,

Brormven degides b place the centrs of the waler coniainer so that @ is:
»  aguidistant from the soith fsnce and e east fenee,
» 3 metres from the south femes,
Show the placement of the waler cootainer on the scale disgram of the small
paddack above. .
Your diagram should include an acouralie plan view of the water condainer  [4

i} Thewater coptainer holds B0E {itres of water when full.
Caleslate the height of the walsr container in cenfimetres. {4

N A x N 300V £ 300X\ = G000 M

OO = AU a  x V@2 VY (40 o

in

i

T x07
Voo =2..9%.5.um

The height of the water containeris ... D8O om
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WIJEC INTERMEDIATE TIER CUMULATIVE FREQUENCY WORKSHEET

. {3 140 girls wene asked how long they spent revising for their GCSE examinations.
The cumulstive frequency diagram shows e resulls.

Cumulslive frequency
s
140 o
7/
12544 -
jem e e e e
100
!
= T
f i
&
5O
. !
W
m;
RE= ot
a 10 20 007 40 507 .60 7g (hours)
&V

{i} Estimate the median fime the gils spant revising.
Chrple your SnoWer.

35 heoers 49 s %8 hours @ TR howrs

i} Caloulste the number of girds who spent between 40 and 50 hours revising.
Clircle your answer, M

i girls 5 girls 10 girls 15 girls ¥ girls

L
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(@} Cirgle either TRUE or FALSE for each of the following stalements.
—Y
25 giris spent between 30 and 50 hours revising. TRUE GA’L‘SE/J
MWe girls spent neore than 80 howrs revising. TRUE FALSE
The modsi graup is befween 50 and B0 hows spernt revising. TRUE FELSE
X girls spent mone than 80 howurs revising. TRUE FALSE
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b} 140 boys were asked how long they spent revising for their GCSE examinations.
Thie curnuiative frequency diagram below shows the resulfs,
Cuarmuflative frequency

140} .

13

£ =)

160

Time

i
i : _ .
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Trefor makes bwo stalements.

L. The btsys" interquartile range is greater than the girls' interquartile

f_ 2.0On mmmga hayﬁ Simnt more time mwsmg

Are bolh Frefor's statements comrect?
Bhow calculations and give reasons fo support your answers. [

Statement t: _ L. XK= UQ - LQ

Wmmw@mma@ﬂmwm&
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1. Cambvia Airines has planes that can carry up o 70 passengers.
For safety, the crew practise the emergency exit procedures with a group of 70 passengers.
Every 10 seconds. the safety officer records the tofal number of passengers who hawve lft the
plane:
He has digplayed the results in the cumufative frequency diagram shown below

Cumulstive frogueney

Fis adi

1Q d

1 20 30 P 0 W Time
{oamynds)

{gk Estimate the median time taken by the passengers o leave the plans, il

LS

seonnds
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TJO -L0 - 30O

¢ How meny passengers iock more than 58 seconds to leave the plane?
Cirche your answer. i

o 20 40 5

fc}  Cambris Arfines has & policy that siates the following.

"In the event of an emergency cxit procedure, ot least 30 of the
70 passengers must e left the plone within 1 minute.”

Did the practice emengency exit procedure meet the requirements of the aldine’s policy
Yo muist show afl your working. [

............ ﬁ%recwfed Q... redAce.  RINRIDENC ek
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15.

Meirion's Window Cleaning Business

Mo job too smalll

Ermail: meirion®mwcb.cympu

Eleirion is & window cleaner.
From Monday o Friday, he records how long he spends cleaning windows for sach of hs
customers.

He draws a cumudalive frequency disgrams o display the Bndings.

Cumulative frequency

120 4

e

100

B ;

B

40

X

Eﬂ s'#
L ' o i

g AT, T Time fminubest
Y4 g 10 15 20 om Time (minutes)
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fad i1 Use Meiribn's cumulative frequency diagram 1o find the medisn and interquartis
range of e Brmes he spends oleaning windows for 2ach of his customers. 3

Kedian \1 mirsuies
Qs UG - o R s

Interquarile ramge . o ?,,w ........ minates

(il Kleidon looks back at his raw dala.
He finds that e median is sctuslly 17 minafes 30 seconds.
Why is there a difference between the median fram his cumulative frequency
diagram and the actual median from his res data? i}

DA becae Mexoen... plotked) | e
wmbw Q{* UJ\ (LQCMd élf 5

B Bleiron is boking at the lime i toak iz clesn individual customers’ windomws.
Fingd the nurmber of customers whoss windows took betwesn 10 and 15 minutes fo dean.
2

B T W A= 5 S

fe} Hleirion thinks that for approximately 80% of his customers, he cleaned thelr windows in
less than 20 minuies.
ts Meirion comeoi?
Yaiu st show a8 vour working. L

BO/ ok V20 2 RO e Bz A,
(o

'-F(c:m e g?@?‘f\ Meidien_clomed. 102 m‘xaws
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WIEC INTERMEDIATE TIER FORMULA WORKSHEET

Petra is organising & prom for her year group.
The number of people attending the prom is Hkely to be between 20 and 80.

The cost of holding the pros

E 3
-
=®

(@}

 at Hotelf Afomeen would be as follows.
Hire of the room: £100

Food: £15 per person

YWelcome drink on amrival £3 per person

Decorations: £2 per person

Diraw 2 graph to ilfustrate the total cost of holding the prom for between 20 and 80 people.
Use the graph paper helow. 4]

Lot A 20 people -

1C0. +. (z,m\'f?) (20 %\ T (z@\c Q = {facso

A Comb o B0 PRI s
00 [%0 x\@ T.(80. 1), ’\'Cﬁ@x 23 3 EW@O

Cest (&)

o i
o o
0 1’4
N
k]
O P
n
W) 4
O y
© v 4
O ’/
g .
m -
O s ;
Q 0 uo @O %0 \OO
Vo, © £
?w@\t
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(b Peira decides to share alf the costs squally between the people attending.

x bLet £F be the price paid per person.
+  Eet Mbe the member of people attending #he propl.

Wrile a formuda for 2, in terms of N B3]
BN e (L i X2
T T

fe} Hiring & targer room at Hote! Aformwver costs £200.
The cost per person for food, welcome drinks and decorations remains the same.

If the tofal cost ix £2240, how many people attend? 21
SO 3 S Tl A Ry X & L & Y
DBBAO RO A e

H
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Bethan builds & reciangular sheeg pen.

faf The perimeler fence of the sheep penis 1801 long.
It ensts her £1.10 for every 05 metres of fencing used fo make the sheep pen.

Gl Caleulsfe the cost of the fancing used o make this sheep pen.

XA o N

£3.60 = \Bm .

Costis® .. 090

{#} Thelength of Bethan's sheep pen is two limes s widih.
Find the length and width of this sheep pem.
Yize mast show your working.

i bxerxzaleaxc = NS
............... { | % ox

............. i o = NT

lemgihis M@’M metres

Width is mwm.w,_.z%.w,_mmm., myetres
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& Bethan deckdss to build 2 new sheep pen.
The perimeler fonce of the new sheep pen k= 18m long.
The jemgth of the new sheep pen is 3 mefres longer than the width.

Farm an eguation and sobve it to find the dimensions of this new sheep pan. [33
LA D
B TN, o B oo 0 e e i - SS9 =S

Lengih is @.y,‘i‘sm:ﬁmmw meirss

Widthis . L-D __ metres




&. Thusfonf is 3 too] hire company.

Hire charges

The cost of hiring o cement mixer in -
13 x number of days + 26

The gost of hiring o jet washer in £:

@ % number of doys + 38

jfa) Sara hires a cement mixer for 5 days and a jet washer for 7 days from Tru=tosl
Heoew muech change would she get from £2007 23

prmn me e rinns HOPER

xS 2@ = GO A6 o BN
&&—wwﬂmfﬁmﬁxgjmi;éﬁmamméﬁgnﬁﬁwi;fﬂglmmmmmemw

L T o Lo 1 W= o 37 N
. '
mca “\9%h. = &8
) Geraint hired & cement mixer for @ number of days.

Lois hired a jet washer for the same number of days.
They sach pald the same amaunt of moneay.

For how many days did they each hire these fools from: Truetool?
Wou rreush show all your working. 1]

X £ o 9(:);: s

%x,fﬁg 5_%%
-Zéif Yy
Mumber of days 3
4o = \2
4 L b
po Sl %
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7.

xy metres Xy square metres x + p metres 2x + y metres

{a) The Headieacher of Yegol Bro Gwyn investigates building a new bike shed.
Bike sheds are built on & rectangutar base of widih x mefres and length ¥ mefres.

{iy Which is the carrect expression for the perimeter of the bike shed?

Cinele your answer. 1]

{iy The Headteacheris given a formula for working out the number of bikes, £, that can
be stored in & bike shed that has a base of width x mefres and length § metres.

He iz told the formula orly works when
» x and ¥ are whole numbers

* x ig greater then 3

* yisgreater than &

e e e e e . ey
Pe e P e e e 8

The formute s as follows:

__ 6y
b=—"2
5
+  Acconding to the formula, how many bikes can be stored in a bike shed
5 metres wide and & mefres long?
Circle your answer. [

3 T 42 2408

A bike shed x metres wide and y matres long can hold b bikes.
Arvording to the details the Headteacher has been given, what is the formula
for calculating the length, y metreg?

Lircle your answer. i
_ b5 _&b _b+5 _Bx
=8 5y =6z ¥=%55
b= G;x%
)
xS 4L S
oh = bxy
~oxl 6 78
5D

Gx- D




(B The Headfeacher decides o place signs around the school site to stop pupils using their
bikes on grazsed areas.

He infroduces 8 new sign to pupils in the school newsletier.
The size of the sign in the neasletier ik shown below.

26om

Efagrm nﬁ;t :ﬂ’mwﬁ tuf scale

A mathematically simijfar new sign is placed near the side of the playing field.

J3Bom

Bmgram i'wfdmﬁ‘ﬁ t&scaie
It is 33-6cm high.
How wide is this sign? 2}
T i S
it o2 G ML BN
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{8) Gusfav is making some scones for his sister's birthday party.

Becipe fo moke 12 scones

450q self raising flour
2 teaspoons of baking powder
75g butter
504 coster sugar

2 eqgs
225 ﬁgmiik

Bake at 428%F for 10 to 15 minutes

{if How much self raising fiour will Gustav need to make 30 scones?
Circle your answer. it

a00g 1000 11000 1259 ) 13509

LAG - 2.9 A90 x LS der
{2
fiiy  Inthe recipe, the temperature of the oven is given in degrees Fahrenhelt, F.
The temperature gauge on Gusiav's oven shows degrees Celsius, ©

The: formutia below is used fo convert Fahrenheit info Celsius.

_5F-160

b= g

At what temperature should Gustav bake the scones?

Give your answer in degrees Celsius. [

Cz 5xu7s -~\e0 =  AA0-\e0 - \430 - 220

—r

0 W SN S

Y O
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{h] Gustav alzo makes a birthday cake for his siater.
The top face of the cake is in the shape of a trapezium.

1aom

12om

Hcm
Biagram not drawn fo scale

Gustay plans to ice the {op face of the cake.
Each packet of icing costs £1.35 and is enough to cover 65em?.
He has fo buy complete packets of icing.
{i} Calculate the area of the top face of the cake Gustay has made. |

oAz 1 (et xnos L (8 a0) Al = 2100’

{ii} How much will it cost Gustay o ice the top face of the cake?
You miust show afl your working. [3

D A2 & xR0 LS U0
B e

(i} Gustav also plans to decorate the ceke with small pigces of marzipan shaped a8
shiown balow.
The top face of each piece of marzipan is & rhombus.
Wil #hese pleces of marzipsn fessellste?

Yeg X Mo

Draw a simple diagram o support your answer. i
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WIEC INTERMEDIATE TIER BOX PLOTS WORKSHEET

The foflowing box-and-whisker piots iHustrate the daily rainfall for Aprit 2016 in Trefwen and in
Nawrby.

April rginfall in Trefwen

+~ Rainfall {rum)
60

= Rainfall {mm)
64
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{8 Complete the foliowing tabie.

4

Range

Medisn

fnterguartile range

Trefwen

O mm

e

e gxgn bt

Maweriyy

L"q 2 [LE}

PRI SR

20 mm

{h}  lona iz going on holiday next Aprid.
She is hoping for good weather, with hardly any rain.

She decides to go to Nawrby.

Give a reason o support Jona's decision. ]
ted bt:) -jo‘ﬂz .
(L% \J‘b ?)Cﬂ - ec(gEing.

nciude vaiues for both Trefwen and Nawrby.
Naw {\%a Sesanion. A
- ’c’uu‘\ M

. Nawe ‘05 H\cn

Y2
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The following box and whisker piots show the fiow of water through a drain, measured in mle.
The fiow of water was measured af 11 a.m. each day for the first 5 months of the year.

Flow of water {mi/s}

)

&0

50

40

30

20

10 g

1 = Wtonth
January Februmry  Warch Aprd hiay

fal inwhich of the five months was the median fow of water ihe grealest? Ftl
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{&}  Inwhich of the five monthe was the range of the flow of waler the greatest?

@

e OB

e} lona is wriiling some statemants for a report on the Blow of watsr through the drain.

Complete each of the statements given below.

(il 'Both the upper quartiles and medians in the months of Ja“ua“j

and Fﬁ—b"\]&(\j o WEre the same’

i) '25% of the results in March show the flow of water was greater than

s o T o/

(d} Circle either TRUE or FALSE for each of the following statements.

fi

(1

[21

2% of the resulls in January show the fow of water was less
than & m3fs.

TRUE

The units, mdls, measure the volume of water pagsing through
the drain sach second.

TRUE

FALSE

The mean fiow of water in April was certainly greater than
36 mifs,

TRUE

FALSE

//

The month with the greatest difference between the lower
guariile and the median was May.

TRUE

FALSE |

85




Lena has theee appie irees in her garden.

She has ons (ala apple tree, one Orange Pippin tree and one Pink Lady frea.
She picks 50 apples from eack of the 3 trees.

She records the width of each apple, as shown.

| ens constructs box and whisker diagrams for the widths of the apples collected from each of
the hree treas.

Gala apple ree

= - - - — ——we Widith {prm)
a0 &) bl & T B B

Orange Fippin apple ree

B T e + o . = Width (mm]
34 A 2 6 0 81 80

Fink Lady apple tree

F i - £ L. 1 —— Wifidithy {mm}
38 &3 50 & a8 8O 20 {mm}
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{2} Complete each of the following statements.
{il “ﬁlﬁ-{:i from the Q(ﬁ‘\%ﬁp\‘??‘f\ opple tree hove the least median
wigth.

The medion width of opples recorded for this tree is N i1

fi} 'Therange of the widths of opples necorded for the &aola apple free
is B\ e 0

gy "The bk kad ;5“ .. cpple tree has opples with the greatest
interquartibe range o idths.

The interquartile range of the widths of opples recorded for this tree
i D 2

ib} WWhich free has a higher proportion of larger appies?
Your rrpush givie 3 reason for your answer,

WLik L hadu 80ple.... ACEE... DAL

LAhe  hAhert .. Medund R o imon . (NQAMGY,

ekt ne @QPL% a8
LoD NS
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WIEC INTERMEDIATE PERIMETER AND AREA WORKSHEET

In this question, you will be aspessed on the gualiy of your crganizalion, commuricalion and
aoourscy im witbng.

Maes Alun Camping

Tents covering ground aras _
v less than or equal fo 120 cost  £14 per night
v greater than 12 m® cost £l per night
AND
Charge per person: €4 per night

Stay B nights ond get the rext night completely free.
This menns ne charge for tents or peeple on every 6™ night.

Fhodri and Lars are planning 8 camping holiday, staying at Maee Aln Camping.

They are going to
« take only one tent betwesn them,
- iske atent covering a rectangular ground area, measuring 2-5 metres by 4-4 metres,
«  both stay for a folsl of 12 nights.

Their holiday is just B weeks away.
“They each plan to save £15 par week From now until their holiday in B weeks' time.

Will the ampust ey save be encugh to pay for their holiday?
You must show ail your warking. B+ 2 GCWY
. a2

AN B0 R A e ————
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Lezar wanis o send & package fo Germany.
He looks af pricing charts for three different companies, Parcelias, DirectGo and FackZaave.

Parceliax
Total cost =
Sum of the 3 dimensions inom ¥ ELE0
Total cost =
Volume measured in cm? x £0.01
FPack2save
Total cost =
Tatal area of alt § faces measured in cm?® = £0.02

Lazar's parcel is & cuboid measuring 10om by Z0om by 3om.

Efﬁ 1 &m

Diagran act trawrn fo eoafe

3} Find the cost of sending the parcel for each of the three different COTRpEnes.
Give each of your answers i paunds {£).

{it ParcelMax st

T e 2 N

{i} Direchze 3]

0 R D X A D e o

= O S
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i) PackZsave o
(2% 70xD0) w0 % 20x10) + (Ax 20 X100 0.0
Qa0+ a0 £ 600) X O O

HE

{bl ‘What is the percentage saving that Lazar will make by choosing the cheapest option
rather than the most expensive option? 21

OO
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Bethan huilds a rectangular shesp pen.

fa} The perimeter fence of the sheep pen is 18m long.

it posts ker E1.10 for every 0-5 metres of fencing used to make the sheep pen.

fi] Calculate the cost of the fensing used to mizke this sheep pen. {2t

«1& L x (B

Costis£ QA2 0O

&) The length of Bethan's sheep pen is two times Rs width.
Find the length and width of this sheep pen.
iou must show your sworking.

\

Lengih i5 e QZZMW metrey

Width & MW,MW?QM mistres
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{b} Bethan decides o build a new shesp pen.

Thie perimeter fence of the mew sheep pen is 18m long.
The length of the new sheep pen is 3 meltres longer than the width.

Form an equation and sobee it to find the dimensions of this new sheep pen. 3t

Lengthis .. D). .

Frsires

Widthis A 2D

metres

XD MR FRAD xRN
i Y6 ozl
e e

bx = 1y
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b Gustav also makes a birthday cake for his sister.
The top face of the cake is in the shape of a trapezium.

15em

||

128w

——
20em
Diagram nof drawn o scale

Gustay plans to ice the {op face of the coke.
Each packet of icing costs £3.38 and is enowgh to cover 85 o
He has to buy complete packets of icing.

)

Caleulate the area of the top face of the cake Gusiav has made. ¥

A:(&‘rb )x\f\—( 20 v A3\ xiZ 2. 2\0cm”

O

(e}

How much will it cost Sustav to ice the top face of the cake?
You must show all your working. &1

=

Gusiav also plans to decorate the cake with smal pieces of marzipan shaped as
shown below.

The top face of each piece of marzipan is a rhombus.
Wil these pieces of marzipan tessellate?

Yes | A Mo

Oraw & simple disgram fo seppor! your answer. [t
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ta} Broowen and Aharo decide to keep some alpaeas on their farm in
Patagoemia.

Abrare knows i is possible to keep between 4 and § alpacas on each acre of sujtable
fzrmrrdand.

They have 13 hectarss of farmiand that frvey want to use o keep the alpacas.

Bromwen knows that 1 acre is 4048-88 m? and that 10000m? = 1 hectare,

Use this information to advise Bronwen and Alvaro on the number of alpacas they could
keap on their farmiand.

Biate any assumphon that you make

You must show all your working. L}

kB NeBres . \B X ACO00 = R0 000 M

LAR0 . ocomt - 130,000 = AT AL A

404k . B0

Wi o = 3L xS T |AB .G~ 118 3lpacan
A V=

L Maxiwon e, = A2 x g = \ARTL = 19T glpacad

o B e
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Bethan has a plan of her rectanguiar lawn, which she has labelied ABCD.

She wants b out oot a nangular flowerbe

Bathan decides that A5 : GLY should be 1 : 2 and that DH = HC.

She has made 5 shetch shoam: below

A oo Gbeetms B

AT

4-§ matms

faf Caloulate the length of GH.

B

R A o == T - 2 vl

a5




{8} The fowerbed, GHD, is to have & flexible edging strip placed around its perimetar
The edging sirip cosis £3.50 per meire and can only be bought in sirips of complete
meéras.
= How mzch will the edging strip cost Belhan?

What length of strip will be left over?
Give your answer i centimelres. 4

Naed&ob%\?—mesw
o Cosy o otrpl A2x35 1 EXD
oobop lefh N\ -113 = 0T s 0700 = T0um

%6




WIEC INTERMEDIATE PYTHAGORAS WORKSHEET

is. io be made.

The wire window guarnd shown beio

Diagranr mof dmws {o scale

The length of the sides of each small wire square shown is 3-3em.

Diagram ref drawn {o scale

Linos eonsiders the length of the diagona! of each small sguare.

Diagram not drawn o scale

Bhe says,

| The width of the window guard s equal to 11 dingonals of the square.

[ The height of the window guard is equal tu 95 diagonals of the square. |

97




fa} Caloulate the length of the diagona! of 8 small square.
Give your answes correct o 1 decimal place.
T

B2l

A z
O

- . -

e L e s s i R

{b} Caleulate the area of the window guard.
You maust show afl your working.

B

oobeiant s A S AN AT B 0D
Cowadk W T s s O

k= bxh

e A B X SN
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kfarta buys 8 mew television.
fa} Marts wants o fit the television in & bookcase om the wall,

in thie shop she forgot to write dowr the length of fhie television.
She did write down the height and the diagona! of the soreen.

tength

18 inches

Marta needs o know the length of the screen before she ogens the box, in case she

wants io return the {elevision.

Catoulate the length of the soreen.

Give your answer comect fo X significant figures. 3
L

Lengthis ... L\' { rerenmmmer ATEENES, morrect to 2 sigrifinent figures.
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Betharn has a plan of her reclanguiar iawn, which she has labelied ABGL,
She wants o out out 3 idanguisr flowerbed from her brwm, laballad GHEL
Bethan decides that AG © GD sheuld be 1 : 2 and that OH = HG.

Sha has misde a skefich showr below,

A 6-8 melres =B

4-8 matres

L-¥

ta) Calculste the length of GH.

LTI o Lo N 68l =34

&1

Ixl-b -2 A
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WIEC INTERMEDIATE TRIGONOMETRY WORKSHEET

fb} The diagram shows the cross-seciion of one part of her rue.

0 metres

1600 metres A

Caloulate the angle of elevation of the road.

0B AR oA den® = O denx 200

{c}

Diagram nof drawn fo scals

SGwenda runs en ancther section of uneven mad fromm & o 8.
The risa in this section of the road is 300 melres.
Thia angle of elevation of 8 from A is 10°.

{i} Caloulate an estimate of how far Swenda hos run.
State any assumption you have made. 3]

GO CAY TOA S0 ®: O 90102300

CHaxoin 0.z 300

...................................................................................................................................................................... H .:- 66@ v — “‘12-’1 lé m
@iy What is the impact of your assumption ors your ansaer? >0 \[%)

A eean.. . BAwRd i ok Reckxeke
e underestivede oy the  voad
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Wirsalla is lying an kver surfboard 180 metres away from the fool of & vertical cliff.
The height of the ciff is 148 metres.

'%’%&E&E‘ﬁh&‘i
50

S o
i80m A
Diagrant nof drawn o scale

Swrfboard #

Ursula was told that if the angle of elevation of the top of the oiiff from her lying position is
betweaen 42° and 457, i is safe for her o attempt o stand on her surfboard:

Caloutale the angie of elevation of the fop of the cliff from Ursula’s position lying on her surfboard.
State whelther it is

» safe for Ursula to attempt o stand, or

+ nofsafe as she is oo near the oliff, or

* noi safe as she is foo far aut at sea. 41

900 CARN oA dn©: 0 A0z w6

oot ele an e n deo far ot ok xa
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The diagram below shows where Levi wants to stiach a string of Bghts o his house.

String: of Eghts:

Levi wanis to attach a single string of fights from B fo A and then frem A to &
The dagram below shows the measurements Levi has taken.

251 | A 2-Sm
Biagram nof drawn fo seale

He spends £410 at the slecirical store buying a shring of lights.
After putfing up tha lights, Levi finds: e has B mefres of the siring of lights left over at one end.

How much did the electrical store chargs Levi, per metre, for the siring of lights? a1
Lo CA). ToA 5028 A ca%Sl:};i
A )

B e R T - VIV 2 W H %CO%‘Z_)Z 7—
B:Ar 6 = Al LateeST . \L 20557-

WO o £ 5T per ke Wz 25
(3567_

H ‘-’r\m
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WIJEC INTERMEDIATE ESTIMATED MEAN WORKSHEET

Rhodri has camied out an experiment to measure the diameters of 20 spherical dust particles,

i microns.

Hers are his resalis.

Diameler, d {microns) Frequency M. P MPx £
1€ o2 2 .S 7
2 d<d 8 " 2, \%
4g d<h ] 6.5 3¢
5 d< g 4 .S 203
20 Sl
fa} {i} Caleulate an estimate of the mean diametsr of & dust particle. B
............ Meen - SIMPE - 31 = %235 microny

s
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¥ Yesterday mommbng, Simon only managed to samphs 10 people.
He caleulated the mean hand span of these ¥ people fo be 22-8om.

Yesterday affernoen, Simon recorded the band spans of a further 28 pappbe.
The: resulis for these 20 peopie are shown in the frequency table below.

Hand span, to the nearest mm Frequengy WM. P

MmOxk

20-Dem o 208om 2 720 -

40 B

20:8cm 21 Fom 3 4.

Q% S

NP

24-Gom o 22-Eom 10 172

2L

22T em o 23 Som & 23 -\

1S5

Caloulate an estimate of the mean of afl 30 hand spans that Simon measured

Gz, 2

yesierday. [
LAOX 2T S T LLEER

XA 128 - G0 o 22BN o
B S T, .

fej  Whal could Bimon do to improve his estimate of the mean hand span of people in
Wales? [1]

loMechk N NGO e
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&lptat s a ski resort.
Thee daliy snowfall for Jamuary is given in the table below.

Daily snowiall, » {cm) Mumber of days M -

o
=

g o5

B o=l 0

e s < 20

&
ST S P
U\*O‘d] o

20« 5 < 30

= | E3| dw

a0 < 5 < &0

faf Caloulate an estimste for the mear dady smowkall for &‘%a%f days of Jamusry.

Neenz S MPxL - 705 = .

{i  Circla aither TRUE or FALSE for each of the following statemants.

The table abowe shows that there definitely was smowfall on

egch of the 31 days in January. TRUE

T~
FALEE

There wers 18 days when the daily snowifall was less than
1Gcm.

TRUE

FALSE

Thers was anly 1 day with snowiall greater than or egualto

20 e, FALEE

TEU9

The meodal group also contsins the median daify snowtall. FALEE

THU@
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WJEC INTERMEDIATE CONVERSIONS WORKSHEET

4. The map shows a part of YWales.

The position of Newtown is shown on the map. <
5 T ey
N Loy f
i Abegé ngel " Lanfal o Wels iui /
% f = @aer ‘L;mn , ;‘;
R
ngymaes iﬁ e L!anbrynma;r {f
Magpyn‘?f th "
%s% - .
= “i.
Camo®. e i
Clatter®: - j
i"aersw% ﬁsléf ytown ,....___,,J{ |
wmé - {’i y , o Btshups Castle
4 Doffor
' i L mlloes f Y
i P L ”’%%wmw Wﬁ % .E.\_\.L. . Clun
gﬁhewswh Liangliig 1 ‘“m..x‘ Bedstone
- F &
[ ; ‘%% % .““\‘*-»._m—-x-“""_'“";
: 9 L
,f %% Lianhister Knighton -
fa) Write down the bhearing of Weishpeoi from Newtown i
tb) Name the place on the map that is on a bearing of 235° from Newtown. 21
N )

’ IQ‘fﬁj
AL
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{c) The distance from Newtown o Welshpool is approximately 14 miles by road.

{iy Estimate the dislance by road from Weishpool to Lianfair Caereinion in miles. i

(i}

.X\—)

Megan lives in Cemmaes Road.
To trave! to work, she starts by heading towards Machynileth.

Her journey to work is approximately 40 km.

Convert 40km to miles.

(21

PO ROt s VG D5 NS

& ’ e

In which town or village could Megan wark"?

6 miles

i

Alloe @sf\ wout N

() A different map has a scale of 1 : 10 000.
Megan measures 3 cm on this map.
What distance does this represent in meires?

L2000 T 2O OOCEN
LN= MO0

21

O metres
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Port v Ddraig {Diragon's Bridge) opened in Rhyl harbour in autumn 2013

The harbour development cost £9-8 miflion. q % . I 2 — .
£4-3 million of this money was spent on Pont y Ddraig. SN e 1—1“ oy T e

{a} How much was spent on the rest of the harbour development in Riwl?
Circle your answer.

FES000  £550000 @0@ £55000000  £550000000

i

S

B A news%@fer at the time said, ) ) i
‘Poret y Ddraig provides the final link in 15 miles of traffic-free cycling across Conwy
and Denbighshire.’

White 15 miles in kilometres.

Al s e -
S » ‘*‘w&,{”* :?é\i R PR
U

4

YA T YR R Sou W Y}

fe} The height of the mast on the bridge is 148 feel. e
Using fhe conversion 1 fool = 30em, calculate the height of the mast in melres. i3]

oy

A E LA Omn.
I S E VA .
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WIEC INTERMEDIATE RATIO WORKSHEET

{a

Z;";f;

Lotty and Rafael decide to enter a prize draw. . M%
They agree to share any money they win in the m’fxé\g 3 ﬁaspectwe
After winning a fotal of £2000, they think again and'decide that Lﬂtty’s share should be

increased by 30%.

(i} Rafael thinks that his share will be reduced by 30%.
Without any calculation, explain why Rafael's thinking is incomect. il

S TRINS RO A AN LT M 4040 s G

{iy Calculate the amount of money Lotty wins after the decision is made fo increase
hershare. A AYY vy ‘o 1nC 4

""f.ﬁ:i@éﬁi@::%?%iﬁffﬁﬁ%fiiﬁéfﬁ%'f.f.f:E@@fff_f_'j:f.'.f:ff_iﬁffﬂfﬁ'.:f_'_fff.::_ff:
Ql\m’i )\”U\ g ‘;‘-"“’(‘" H”UQ }x_ }\

o \\\grfﬁﬁﬁfﬁ \?:.._-ff'\) 2000

S‘U ‘ Q;F%w
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(i) Fird the ratio that is now used to share the money between Lotty and Rafasl.
Express your answer in ifs simplest form.

Chobiyy L Eodael
1Oa0 L 960
105 5 96

” iww%v

Lotty'’s winnings - Rafael’s winnings = ‘ DGV B Sosvors s
() Inanother prize draw, it was planned to give £5000 as the first prize.
To make &t more pupuiar the organisers decide o increase this first prize by 26%.
The most efficient method of calculating the amount of the increased first prize is
1.26 » 5000

Thies second prize was planned to be £3000, but i is now dacided fo decrease this prize
by 6%. VO - & = AY

White down the most efficient method of calculating the amount of the decreased second
prize.
You are not expected to work out the answer. fl

Q.au X200
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fa} Jasmine entered herself, Sophie and Bryn as a group in a talert confest.
Bryn ondy bad & niinor part

Bryn, Sophie and Jasmine won the eontest.
They shared the prize money in the ratio 2 - & - 7, with Bryn geiting the smallest share.
Jasmine won £56% the jargest share:

i) How much money did Bryn and Sophie each win? {41

oEm L O T Y

AU =N e

Bmmemsﬁ\bo

Sophie receives £ ﬂé{: :LQ

(i) Jasmine gave 15% of her winnings fo charity.
How much did Jasmine have left? (2}

BRIl IR, g o G-

- s
- e
s b e
: ot
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fh} Thetalent cordest is held once a year.

Every year, the cost of putting on the talend confest increases by 10% of the previous
r's cost.

yer
in summer 2014 the cost was £6500.

Calculate the cost of putting on the summer 2077 talent confest
You must show all yvour working. i3

NOVG- jéﬁﬂ“gw 6&C13f:::
(—H% 660
PN

1 M‘%

PR
E Al

REICEY 1C‘i N {
%j D6 iﬁ

QO LS V60

PISIER R
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Rbodri has carried out an experiment to measure the diameters of 20 spherical dust particles,
in microns.

Hete are his resulls.

Diameter, o (microns) Frequency N Fxin NE
1gd=2 2 P 3}
2gd<d 6 2, v %

4gd<5 8 Ly <, 26

4 ) 2D
s

fa} {§ Caleulate an estimate of the mean diameter of a dust partice. {4]

Bg de9

(it Rhodri measures the diameters of another 25 dust partictes.
Rhiodri is told,

“The rgtic of dust particles with diameters less than 4 microns to those
with diameters greater then or equal to 4 microns is 7: 8/

He finds this fact is true when he considers all 45 dust particles.

How many of the extra 25 dust parficles have a diameter of less than 4 microns?
You must show your working. ‘(\@f\"{) v 3

FERITUU VN SV O Bl SR
€ P

IS RS

. ko

=0 S oao
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{8} Gustay iz making some scones for his sister's birthday party.

Recipe to moke 12 scones

4504 self raising flour
2 teaspoons of baking powder
78q butter
50g caster sugar
2 eggs
22bml milk

Boke of 428°F for 10 1o 15 minutes

{iy How much seif raising flour will Gustay need fo make 30 scones?
Circle your answer. — {1]

900g 1000g 1100g 13509

(i} Inthe recipe, the temperature of the oven is given in degrees Fahrenheit, F.
The temperature gauge on Gustay's oven shows degrees Celsius, C.

The formuds below is used to convert Fahrenheit into Celsius.
_EBF 160
=5

At what teraperatura should Gustav bake the scones?
Give you answer i degrees Celsius. {2
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(3}

Organics4i/ is planning to have its headquarters in Wales.
The manager has instructed Fiion to look for a sife for the headquarters.

Hera are the instructions that Ffion has been given by her manager.

‘Find the point that is
»  anequal distance between Wrexham end Aberporth, and
*  an equal distonce between Caernarfon and Swanses.
The new headquarters needs 1o be within 20 miles of this point.

On the map below, shade the region, in Wales, that Ffion should identity for her
manager. 4l
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(b} In this part of the question, you will be assessed on the quality of your organisation,
commurication and acouracy in wifing.

Organics4l/ has 16 vehicles on the road every working d
The company has 8 vans and 10 trucks. ey

Ffion has the following information for each type of vehicle.

Average distance travelled | Average distance fravelled
Type of vehicle per fitre

(un per iire) (i s )

Van 8 256 O D
Truck 55 704

PO VUG

The fued used by all of the 16 vehicles costs £1.10 per lire.
Use this information to caleulate the total fuel bill for 1 working day. _
You must show all your working. 16 + 2 OCW]

NGNS WEor 6 ‘““;.__: 526 i(.,‘m
mé&m A0V ﬁ(‘i‘ *‘;-.,'.2

T . 0L x\O = """"ifiif;f}ﬁﬁﬁﬁﬁfﬁﬁﬁfﬁf
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WJEC INTERMEDIATE PIE CHARTS WORKSHEET

fal 36 000 people took part in a survey to find out their favounte type of TV programme.
Tha pie chart shows the resulis.

Talenf shows Dirama

(i Howmany e chose Drama as their favourite fype of TY programma?
You masst sﬁﬁp{ your working. be

2026000 = OOV o DO

o LG = N S

(i) How many more people chose Sport rather than News as their favourite type of TV
pregranune’?
You must show your working. 3
; - £ S
T U 1S Sl RN O W= W B ) I e = e i Ve

e NS B S 00O o DO gt S

LWNECO mEn00 = (OO0 ey
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(i) Twice as many women as men chose Talent shows as their favourite type of TV
programme.
Caleulate how many women chose Talent shows.
You must shiow your working. 31

Tatiun St 200

\C CAND . Dy P.D@ﬁ\\

ST T -
Cacog xR GO

[SISRN @w\m\

{6} 1000 people were asked,

'Should news programmes include defails of the weather?
Yes or No?'

70% of the people answered "yes'.

A pie chart is to be drawn to represent the answaers fo this question.
What size would the angle be to represent the answer 'yes'™? £2}

Ok 200 =29

Angle representing ‘yes’ is - R Ty
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3. Tomos is looking at gym memberships for Hadon's Gym and Workouf Palace.
Each of these gyms displays its membership in a pie chart

Hadon's Gym Workout Palace

Children

{a} About what percentage of the members at Hadon's Gym are children?
Circle your answer. ki)
o ‘
10% (&26%3 30% 40% 50%

o

{b} Which of the following is the best estimate for the percentage of the members at Workout
Paface wha are women?
Cirele your answer. L

PN
26% 28% 30% ( 35% \ 8%

{c) Tomos says,
“There are more mer with membership ot Hadon’s Gymthan at Workout Palece!

Is Tomos certain to be correct?
You must give a reason for your answer, p M

=
£

Yes Mo \ /

Nti(ﬁ@\\*\(“\\Gb\:‘\m‘}:m\)ﬂg\xcgﬂ}j\@r(ﬁ
Cx’\f&(“‘mﬂx\”ﬂjjw*\
e
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Lioyd has carnied out a survey in his school.
He surveyed 300 pupifs.
Below is a section from his questionnaire.

2
3.

1. Which vear group are youin? ...

What is your favourite colour? ...

Do you like the colours of the school uniform?

PO ———

{a} Adterwards, Lloyd thinks he showuld have given option boxes in questions 1and 2.

What could these opflion boxes be?

Cluestion 1-

(b}

Other

Yollow

e

g 4h ks 40 b

E

RS 'A% S
B

PRS-

[

A

yyTT——

\>/\ ) \f “ \;) *\gf P4 4

I T W

& pie chart displaying the resulls from guestion 3 of the questionnaire is shown below.

Rad

{§ Which colour was chosen by 75 pupaEs as their favourite colour?

2 YOLE 3NSWeT.

Hladi ! Red

Blue

Yellow

il
Other
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{#}  What fraction of the: pupils said that blue was their favourite colour?
Give your answer in its simplest form. 3

N = s O S S
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WIJEC INTERMEPIATE VOLUME WORKSHEET

{ azar wants fo send a package to Germany. .
He locks at pricing charts for three different companies, ParcelMax, DireciGo and Pack2save.

FParcelMax
Total cost =
Sum of the 3 dimensions in cm x £0.60

DireciGo
Total cost =
Volume messurad in om® = £0.01

Pack?save
otalcost =
Tolal ares of all G faces measured in om? x £8.02

Lazar's parcel is a cuboid measuring 10cm by 20em by 30cm.

o~ O om
30em
Diagram nof drawn to scafe

fa} Find the cost of sending the parcel for each of the three different companies.
Give each of your answers in pounds (£}

(i) ParcelMax )

AL AR 40 T N
S THOx Ot = 20 00

NOVEDOXRZO X V0
e OO
o OO0 X 0.0 = o

123




{iity PackZsave 4

ot o irmen.. 20X 102 O a0
*& ..60@
Q% A0 \o

.P

Bt \mmm 200 &C‘f
"\L““

\ka (:)OC) T Ll’QU T

‘@&Cﬁx OO 1
Q900 L@Tt Tiir oo

(b) What is the percentage saving that Lazar will make by choosing the cheapest option
rather than the most expensive option? 2]

ChOGpEDY . i% [e'ol
DT MO . ,(j

ﬁiﬁi@@fﬁfﬁ%ﬁ)ﬁﬁﬁf@ﬁﬁﬁiﬁf};;ﬁ.ﬁﬁﬁﬁﬁﬁffi’ﬁf.ﬁfﬁﬁﬁﬁﬁﬁ%ﬁffffjﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁffﬂﬁﬁﬁﬁ..
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Rhodri has camried out an experiment to measure the diameters of 20 spherical dust particles,
in microns.

Here are his results.

AV
O B N&&J Y\\J
. Q% {.\\ L0

Diameter, d {microns} Fregquency W\ 0 %"%H‘L&j
1¢d<2 > 5
2gded 5 g I \%
4gdab 8 i ‘% % (,)
b det 4 \ &cz)

iy Calculate an estimate of the mean diameter of a dust particle. '"“'“6[?1[1””

%’i)
@ LY vicmns

(i Rhodri measures the diameters of ancther 25 dust particles.

Rhodri is told,

“The rotic of dust particles with diameters less than 4 microns 1o those
with diameters greater than or equal to 4 microns is ? 8/

He finds ihaa fact is true when he considers afl 45 dust particles.

How many of the extra 25 dust particles have a diameter of less than 4 microns?
Youl nrist show your working. R

Ly 7 T e T

S Coou @{
&%Lir“&v W,

@\\\%\&m&i‘&&aam%
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(b} Rhodn studies a cylindrical cell under his microscope.
The height of the cell is.2 microns.
The circunderance of the celt is b microns.

Calculate the volume of the cell he sees under the microscope.
Give your answer in microns?, correct fo 1 significant figure.

E&W“ S C,\ ( C,«K.M\ \gﬁ'

1]

%ﬁﬁ\amm&f}

OV f o sl s W

0. 'WC\(,) —

VOV = co N

- .E . e

= “F"”\f‘ b @ "“\CKJ paaRe

V@\mw\ﬂwwwﬂm .

Volumeis ... S, THCTONS?
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Eln's old fish tank is leaking.

Yagram not drawn fo scale

This old fish tank is in the shape of a cuboid.
The base of this tank measures 80 em by 40cm.
Before the legk, the height of the water level in Elin's old fish tank was 4bcm.

Elin decides fo replace her fish tank with 2 cylindrical one.

Thom

Diagram nof dravin Io scale

She selects a new cylindrical fish tank that has a radius of 25cm and a height of 70em.

Wil all the original contents, including the water and the fish, fit info this cylindrcal fank?
Yot must show al your working. [4

Vol D‘ﬁ Qi J\s\u& hu;kﬁj 6(;’2%.,....._; xLi-J )

NoLdr C J\w\émmk tmw&m...._. TN
TV x &\_} x O

= 13T 44L Day

OB ocr < VEN bate G
T &j@% WA F Y 127
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WIEC INTERMEDIATE SDT WORKSHEET

Glenda pians to drive from Flint to Cardiff. - L

Cn a long journey, her average speed is usually 42 mph. 2 )
Last time she drove from Flint fo Cardiff it took her 33 hours.

fa} Use this information to calculate the distance between Flint and Cardiff. 2

miles

(b} Give apossible reason why your answer in {a) is only an estimate of the distance between
Flint and Cardiff. 4

° *’r&mg)\f\\agn\Bmxwemq}wwc\
\“M\%‘\Q\‘wu&wwwéxﬁa

g 5Y\QW\£@®@:WQ?C@M\@MQJ
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{a) Whatis 3 hours vgmm sin hours?
Circle your ang
3102 hours 312 hours 345 hours @ 3-25 hours

gl

fb)  The first 40 miles of a journey tock 1 hour 15 minutes.
The remaindrg 80 mites were completed in 2 hours 15 nimutes.
Calculate the average speed, in niph, of the 120-mile journey.

oralo w F' % M{

3]

c‘mk@mﬁcmmmi&cjemm

— - i&g ?)L\* 2) mD\/\

25
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WIEC INTERMEDIATE ANGLES WORKSHEET

Kan iz making 2 jigsaw puzze.
She hias designed the patiern on a piece of paper.
Kan plans fo- make each piece of the figsaw a different colour

Part of her plan is shown below.

Diagram not drawn 1o scale

Kari now sketches a diagram of the red piece of the jigsaw, which is shown below.
She shows some extended Enas and indicates all the angles she needs to find.

Dyjagram not dravwn 1o scafe
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Find the 4 missing angles in the red piece of the jigsaw.
Draw the red plece of Kari's jigsaw accuraiely.
Cne sqde hias been drawn for you. 5]

=T Copp. mqm OIS (0]

— ‘%Q (

(cmgucg c:w\ct Q,u\d

MQRJQWW, R 16 SIS B < CI

Space for drawing the red prece of jigsaw:

. - magmﬁmmgii
=AU & 20 Fanalen)
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A number of paths are to be Iaid fo join three new office buildings.
A skefch of the architect’s plan is shown below.

Diagram not drawn fo scale

The architect has shown a number of the angles in his planning for ihe new paths.
Calculate the size of each of the angles g, b, cand d. &1
S o ek T

D \OA ﬁggu@im*ﬁ&\@w\(ﬁaﬁkﬁ%m\

g H% ° b= \ O% e €= i)\ . id= %}‘ s
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